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COMMERCE AND ACCOUNTANCY (PAPER-I)

Time Allowed : Three Hours Maximum Marks : 250

QUESTION PAPER SPECIFIC INSTRUCTIONS

(Please read each of the following instructions carefully before attempting questions)

There are EIGHT questions divided in two Sections and printed both in HINDI and
in ENGLISH.

Candidate has to attempt FIVE questions in all.

Question Nos. 1 and 5 are compulsory and out of the remaining, THREE are to be attempted
choosing at least ONE question from each Section.

The number of marks carried by a question/part is indicated against it.

Answers must be written in the medium authorized in the Admission Certificate which
must be stated clearly on the cover of this Question-cum-Answer (QCA) Booklet in the
space provided. No marks will be given for answers written in a medium other than the
authorized one.

Word limit in questions, wherever specified, should be adhered to.
Assume suitable data, if considered necessary, and indicate the same clearly.

Attempts of questions shall be counted in sequential order. Unless struck off, attempt of
a question shall be counted even if attempted partly. Any page or portion of the page left blank
in the Question-cum-Answer Booklet must be clearly struck off.
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@WUe—A |/ SECTION—A

1. f=fefad i § @ y&® &1 I T 150 vt 7 G

Answer each of the following questions in about 150 words :

(@) 3 g sl hit fagmm A R fm Ff K gl w1 aEr-gdian s e oa-udias

(b)

(c)

(@)

(e)

) & | W@ B

Discuss the key points that an Auditor would take into consideration while
auditing the books of accounts of an insurance company.

forfra g womeht § ST TR ffte B Famar 7 se@ fRE weR i gEA W R S
Tt &7

What role does accounting play in a financial information system? What type of

information can be derived from it? 6+4=

AT G0 1 87 306 HH-%H O LW 7 I8 foxfa d@memr @ fora wohr firg aan 27

What is Cost Accounting? What are its objectives? How does it differ from

Financial Accounting? 3+3+4=

TS ArTa gonett & fafim yewon i faemm fifse) ameft, sm v e v R R
TH-g ¥ i g 87

Discuss the various variances in standard costing system. How are the

material, labour and overhead variances different from one another? 3+7=

92 wd YA § IR FRe| A fr ver aegell ©@ darell woAn B € aun g9 R # -
ST R §7

Distinguish between VAT and Service Tax. How do they apply to goods and

services, and what are the administrative challenges in these taxes? 5+5=

SLPM-P-COM/6 2
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2. (@) To o o fofiee gr wega F=fofga dewe iR o= stfafies gemedl @, wrf srfafiam,
2013 &t g1 fefosm-1 g emfd 31 Wi, 2025 % geW-79 GOR I qen
-3 & A= @t % foe Tew ey

dciye
faawor Eayf S
(%) (%)

3fwdt dsft (3ifra gea T 100) 20,00,000
EEARIRIEENY 2,000
I g9 4,60,000
THo sfto 3MMgo W 1 (FHHIei) 3,00,000
o 4,00,000
CCE 8,00,000
e RCRENIE 11,00,000
e 1,20,000
EacikiLibei 1,00,000
AR AT 4,00,000
TqTiees wfeEt 3,80,000
aIfim 3 (3reuredia) 90,000
EZiceic] 1,38,000
T 1,20,000
- @ 1,80,000
o1 (Irgefar) 2,50,000
IR 3 4,00,000
S ¥ T 3,86,000
TR (719 H) 70,000

38,48,000 | 38,48,000

R H\?ﬂf:

(i) T & 3rermEn 3= ufawd % I 6000 iR IR S fohg g
(i) TEo sfio 3MZo ¥ U F T 8,000 1 =AW Wk 7, S % 37 7 B o= W o= g

e ?
(iti) TeafeEt Y @ -

f

e
LTIk

9,60,000
14,00,000
1,80,000

(iv) T1,80,000 i AT Wit 8 wéR A 37 ¥
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From the following Trial Balance and other additional information furnished by
AGN Ltd., prepare the Balance Sheet as at 31st March, 2025 as required by
Schedule-III Division-I of the Companies Act, 2013 and show the Notes to

Accounts below the Balance Sheet :

Trial Balance

Particulars Debit Credit
(%) (%)

Equity Capital (Face Value of ¥ 100) 20,00,000
Calls-in-Arrears 2,000
General Reserve 4,60,000
Loan from SBI (Long-term) 3,00,000
Land 4,00,000
Building 8,00,000
Plant & Machinery 11,00,000
Furniture 1,20,000
Raw Materials 1,00,000
Finished Goods 4,00,000
Trade Receivables 3,80,000
Advances (Short-term) 90,000
Provision for Taxation 1,38,000
Dividend Payable 1,20,000
Profit & Loss A/c 1,80,000
Loans (Unsecured) 2,50,000
Trade Payables 4,00,000
Cash at Bank 3,86,000
Cash in Hand 70,000

38,48,000 | 38,48,000

Additional Information :

(i) 6000 Equity Shares were issued for consideration other than cash

(i) Loan from SBI includes T 8,000 for interest accrued but not due. The loan

is secured by hypothecation of building

(i) The cost of assets :

' T
Building 9,60,000
Plant & Machinery 14,00,000
Furniture 1,80,000

(iv) Trade Receivables of ¥ 1,80,000 are due for 8 months

SLPM-P-COM/6 4
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| ) SPM IAS ACADEMY

SHAPING BRILLIANCE

(b) & ¥@ T} 6 T1,20,000 H Aifkes fashl W wH A T 30,000 F AREEH W B
2| yarem Y gr e @ T6 fash @ i of 9fs geem 1 ok =e T TEitE W % dERr
3 @, W SR @ % R W Rl @ favem fen ok qnfn i fesht @ T o
RETem @ T 30,000 & wHhdT &
I S o IUR T, ATGeh! Fedish FHET e—
(i) TN-HEAT FIAIC;
(ii) T TR ST,
(i) wa-frede farg (sfto $o dlo);
(iv) T40,000 % @ ¥ forg Wil ife A% (TWo 3o THo);
(v) T3,00,000 H wrfie feshi & forg @)

It is observed that at a monthly sale of ¥ 1,20,000, a firm suffers an operating
loss of ¥30,000. The management apprehends that any increase in sale will
further rise the loss. However, the Accountant of the firm analyzed the
situation based on cost, volume and profit, and showed that the firm may earn
T 30,000 operating profit by doubling the sale.

Based on the above information, you are required to measure—
(i) P/V ratio;
(i) monthly fixed costs;
(i) BEP;
(iv) MOS for profit of ¥ 40,000;
(v) profit for monthly sale of ¥ 3,00,000. 5+3+3+2+2=15

(¢ (i) To Tho 2 W IHid AeA-Ge (3aw=ft) Youiehd & Frgrdi 1 9&g o aweisy)
Explain in brief the principles of inventory valuation based on AS 2.
(i) TR W@ A % YR R Yodgrd 6 Wiewrl faftei 1 wag 7 e hifsm)

Describe in brief the permissible methods of depreciation based on the
relevant Accounting Standard. 6+9=15

3. (@) ¥R AfufRm, 1961 % wwid Fed™ ¥ I ) AT F TE F | WiHa HeAfadl bl &Y

H wHEEy |
Explain in brief the deductions that are expressly allowed in computing the
income from business under the Income-tax Act, 1961. 15

(b) wW 15 54, 2023 # T 10,10,000 F 3w 3= a1 B (769 & foq 37 smywon i«
25 7§, 2002 H T94,500 #fi qM IeN T fawd W T 10,000 I@TE F FHQ)|
15 fwmr, 2023 F 3@ T5,00,000 H T Re@sht 76H @@ 15 4, 2023 i 36+
g #15 Remeh wwE 78 o1 9§ 2002-03 # A Thifa gEHE 105 o1 qU1 9§ 2023-24
T I8 348 91|

= Frufo 9§ 2024-25 % fore FaEm §sh @ 3@ FRT)
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(i) 3Rk wm o e f6 &tw = femeft 9em 15 e, 2026 @ =S 9= 3@ R, @
Farse 7% wEra st e w0 2 ik fee ad @ @)

(i) afe 7M forn s f wlw & o= femesht wem 15 S, 2025 @ 9 H wW A Aga
15 34, 2026 ¥ Td T 31 femeft vem 741 o, df ase 5w 36t = am
3R form ad &1 gFT

Harish sold jewellery on 15th June, 2023 for ¥ 10,10,000 (cost of jewellery to
Harish on 25th May, 2002 was ¥ 94,500 and brokerage paid on the sale of
jewellery was T 10,000). On 15th December, 2023, he purchased a residential
house for ¥5,00,000. On 15th June, 2023, he did not own any residential
house. The cost inflation index for 2002-03 was 105 and for 2023-24, it
was 348.

Compute the amount of capital gains chargeable to tax for the Assessment
Year 2024-25.

() Assuming that Harish sells the new residential house before
15th December, 2026, what will be the taxable capital gains and for which
year?

(i) Assuming that Harish purchases any other residential house before
15th June, 2025 or constructs any other residential house before
15th June, 2026, what will be the taxable capital gains and for which
year? 9+3+3=15

(c) s fafies 3 T2 ufd IR F Mifimm ® T 10 wfa W F 200000 3 AR a0 =3 F
fore smae smmfAa fore, fme spram g8 wer forn s on

3MEEA T e W T 6 uf Ior (Hftrm afeq)
3 Uiy wom v W I (Fd) W

600000 3 I % forg amae W W1 300000 R * fow smaea sweiswr Ry Mo
T§ ¥ A" R T M) AW et I Mguife YR W IRR refed fhu My weelt siw
#f<m i i T 3R 2000 AW H BeR W AN ww g€, R e o forn e e T7
fd TR W R & Sl forn )

TS fafiee it gl & 31avas sHa gfafdat $ifsg

Sky Ltd. invited application for issuing 200000 Equity Shares of ¥ 10 each at a
premium of ¥ 2 per share, payable as follows :

T 6 per share (including premium) on application and allotment
Balance on the first and final call

Applications for 600000 Equity Shares were received. Applications for
300000 shares were rejected and money refunded. Shares were allotted on
pro rata basis to the remaining applicants. The first and final call was made

and all the amount was received except on 2000 shares, which were forfeited
and reissued at T 7 per share.

Pass necessary Journal Entries in the books of Sky Ltd. 20
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4.

(@) THE % PAH % T § AE-T08F 5 FHadl 1 Ig@ BN | AN H JTaE Y S &

(b)

(c)

Ty W AET-9Eh gRT 31918 WA aTelt sar-gdien wrifaty i faas Hifsa)

State the duties of an Auditor with regard to payment of dividend. Discuss the
audit procedure to be followed by the Auditor in respect of checking of payment

of dividend.

6+9=15

I ey fargatt F fad=m fifm fm w saws A1, St 6t Yeema § au St9 F /M,

Iy foem e =i | U = Y 3o fare o wey fhe weRR SRR s =R

Discuss the important points that an Investigator must consider in the

beginning and during the conduct of an Investigation. How should an
investigator draft his report?

6+9=15

T -3 e’ TH IR ‘Hew’ & Fmivr % RE W g B 1 39-3ce wi o % fow em
rag fome sar #1 sifverat @ sy Frefeafaa sifwet @ 3amr ‘sow’ wd 3u-3dr e’ @i
Wi kg @ fe@md g o @ @R Fifg) o seft % e Safed wE of— e
100 kg 3R ‘e’ 50 kg. T &1 fawa yea T 120 vfd kg o1 o = a1fia e 30%

wgmﬁa q1:
. ey
qgq 4 i
(f) 37T et
(%) (%)
art 10,000 6,000 500
a9 7,000 5,000 2,000
JUReTT 2,500 1,500 600

A by-product ‘Beta’ is derived in the course of manufacturing a product ‘Alpha’.
The by-product is further processed for sale. From the following data available
from the records, prepare an account showing the cost per kg of product
‘Alpha’ and the by-product ‘Beta’. The quantities produced during the period
under consideration were—‘Alpha’ 100 kg and ‘Beta’ S0 kg. The selling price of
‘Beta’ was ¥ 120 per kg on which the profit earned was estimated at 30% :

Joint Expenses

Separate Expenses

(%) Alpha Beta
(%) (%)
Materials 10,000 6,000 500
Labour 7,000 5,000 2,000
Overheads 2,500 1,500 600
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@Uus—B / SECTION—B

5. ffafad vl # | Y% &1 IW @ 150 vt F A

Answer each of the following questions in about 150 words :

(a)

(b)

()

(d)

(e)

(b)

el St HEEA1 i STGURI H WHAIRY | TH FO TE F01 G 3hendt s 1 forw weew faolg
Fdl 27

Explain the concept of optimal capital structure. How does a company decide

on the right mix of debt and equity? 6+4=

TG Ya & fier w@ 1Rt Aiga & o A fafa)
Write about Miller and Orr model of cash management.

R fodfta gefa & e o, dsft a9iR wd gz SR # e v fifv)

Differentiate between capital market and money market in the context of
Indian financial system.

T ifd Y TeReuT I THEET | HEHE gR 39 94 arelt faftm wer ) e iyt
H fom=m fifvg)

Explain the concept of dividend policy. Discuss the various types of dividend

policies followed by the companies. 4+6=

Torefia Tanett it Geheqn 1 THEEY| Hige W i e iR sy faxia Qanadt § 3o g
Tew i foeemn Hifs)

Explain the concept of financial services. Discuss the concept of credit rating

and its growing importance in Indian financial services. 3+7=

o, siftnrewr va wamiem i sEuron A shwifie 9 e i) e @ sftaee H e
% 1 FHO Bra 27 TRt o B T R gt wen =il f faem @ siftorew wwe @17

Define and explain the concept of merger, takeover and amalgamation. What
leads to the failure of a merger or an acquisition? How should a company

ensure that merger or acquisition is successful? 6+7+7=

e fafies ad 202324 ¥ fo fr=fefga st wem et § -
fasFa—< 80 @@
TREdHE Ara— 56 9@
Tl gRETeE dra—< 8 |
ot fordfig ara—< 4 @@
Tt W TW—25%
3o flo THo—T 9
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(i) Fh F fore afErem Iem (fsr) 6t 3ot (faf) [ o o weio], faefia 3dem i
woft (fef) [So Tho Toio] w6 WY FWem R Avf (Rft) [So o wwo] H wEm
whifse v gftomat it sren $ifv

(i) I FFA Ao fsht 7 20% A g W wFA R, @ $o dio Tho F fra uftadw dm?
(i) & T8 GO F IR W Y1 IW AR
Rainbow Ltd. provides the following data for the year 2023-24 :
Sales—X 80 lakh
Variable Cost—X 56 lakh
Fixed Operating Cost—< 8 lakh
Fixed Finance Cost—=X 4 lakh
Effective Tax Rate—25%
EPS—X9

(i) Compute the Degree of Operating Leverage (DOL), Degree of Financial
Leverage (DFL) and Degree of Combined Leverage (DCL) for the company
and interpret the results.

() If the company can increase its sales by 20%, by what amount will EPS

change? Give your answer on the basis of your results obtained in (i)
9+6=15

(c) TH FF G o freem @ wafa frefeafaa sk vem = R
e (k=) Y o/ (91 + 3fRdY) & &9 & |97 ST @
20% IIeH W 3t i ar (K ,) 18% AL STt &

(i) AR TG I (To 3Zo) Wiew 1 UeH foan mem B, & 40% oM R K, 91 Bvfi?

(i) AR PG AT A (TWo Mo 3M3o) Hiew H Ted fohan S &, S=fh Ioht A Fa
@ (K,) 16% 8, @ 40% Idied W K, #1 2rft? 7M <fifse & o & i @
(K 4) For &t 2
A company provides the following information related to the capital structure
planning :
Leverage is measured as Debt/(Debt + Equity)
At 20% leverage, cost of equity (K.) is measured at 18%

(i) What will be the K, at 40% leverage, if Net Income (NI) model is followed?

(i) If Net Operating Income (NOI) model is followed while overall cost of
capital (K,) is 16%, what will be the K, at 40% leverage? Assume cost of
debt capital (K ;) to remain constant. 6+9=15

SLPM-P-COM/6 9 [PT.O.



SPM IAS ACADEMY

SHAPING BRILLIANCE

7. (@) T AREIER o F fodt yeruE F w9 F o (1) GEE-Ted 9R (§5-3e ¥2) oiv
(2) INR-YeA 9R (W1he-Acq 92) 1 IWART ek FHeot i dst R wila sfea awm A Tom
FCA 71 FF A TAAH Yot G 3 TR R

Ffedt IR (T 10 ufd 9 30,00?000
10% =ftm™ R (T 100 iy =) 4,00,000
12% =9 (T 100 Wi o) 14,00,000

48,00,000

¥ @t wfasfodt &1 SRR wfefa som A drar &) 7R TE 6 F §
FOTI— 110 wfd o
FHH R—T 115 vfd IR
3Rt IR—F 40 wfa T

TeATiRTa STEdt freieer % STaEt 39 Y § -

(i) T T 100 % YA F T R, 9% FHI & W 1 51 GFa1 2, B 5 9 9 10%
IR R AT S HhdT | oA (Y1) A 2% Beft

(ij) 8% NI A AT T 100 % WM IR A THYT W =1 51 GFaA &, B 10 e
e 5% NfEEH Q= ST whal § | Jod9 | T 3 Wi R @nf

(i) T 10 1A 7 3l R T35 & 3= I wha &) adH @ Pt Hina (v wEw) A
2% &l | Rl T w srifdra emiw 20% B @i A wenRe 3fe ® 8% 1 frm
A W 40% B

As a Financial Manager of an engineering company, you are required to
compute the weighted average cost of capital of the company using (1) Book-
value weights and (2) Market-value weights. The company’s present capital
structure is :

T
Equity Shares (¥ 10 per share) 30,00,000
10% Preference Shares (X 100 per share) 4,00,000
12% Debentures (¥ 100 per debenture) 14,00,000

48,00,000

All these securities are traded in the securities market. Their recent prices are :
Debentures—X 110 per debenture .
Preference Shares—X 115 per share
Equity Shares—X 40 per share

Anticipated external financing opportunities are :

() New T 100 Debentures can be sold at par at 9% coupon rate, reedeemable
at 10% premium after 5 years. Flotation cost would be 2%

SLPM-P-COM/6 10
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SPM 1AS ACADEMY

SHAPING BRILLIANCE

(i) New T 100 Preference Shares carrying 8% dividend can be sold at par,
redeemable at premium of 5% after 10 years. Flotation cost would be
T 3 per share

(iii) New T 10 Equity Shares can be sold at T 35. Flotation cost would be 2% of
issue price. Expected dividend on Equity Shares is 20%. Anticipated
growth rate in dividend is 8%. Corporate tax rate is 40% 20

(b) W Gt SR R FaE Rifa H e Fifvm) seed g fFew uigw §, ser ®
Tafrafia @ 3, ¥t (T8o Fo o 3Mgo) A yfirert I WY
Discuss the present state of Indian capital market. Illustrate the role of SEBI in

regulating the markets in the changing international investment scenario.
4+16=20

() i stm wE (§o 3o Fo) FR Fruffa 1 TR 27 T g, fo Mo Fo B A WA

Fd 27
How is Economic Order Quantity (EOQ) determined? How does quantity
discount affect the EOQ? 4+6=10

8. (@) wrdA faeim yoreh i ww=m @ wHemEw) 21 w6 ¥, See Afvas uRgwa |, 3o fo amgo

#F 3wl frm A faa=m Fifm)
Explain the structure of Indian financial system. Discuss the emerging role of
RBI in the changing global scenario in this 21st century. 5+10=15

(b) 394 % e a1 T g9 A frfoafea sigwfa Ted ware @

T LETIB G
(%)

0 (-) 20,00,000

1 8,00,000

2 8,00,000

3 9,00,000

I % e % ofd o IS rafie geg 7d = ) wom Hife—

(i) Sfawhe Fi TTaRe R (3o ARe 3TRo);

(ii) sErTa e et safi)
& A TEFA R 10% M 71 10% 3R 12% N FgFa R W T 1 F1 909 Jed 3 T &

R e mn #
Ty : 0 1 2 3
10% T a1 G - 1 0-909 0-826 0-751
12% R Jd9H g9 : 1 0892 0797 0712
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A plant with a life of 3 years has the following projected cash flows :

Year Cash Flows
(%)
0 (-) 20,00,000
1 8,00,000
2 8,00,000
3 9,00,000

There is no residual value at the end of the life of the plant. Calculate the—
() Internal Rate of Return (IRR);

(i) discounted payback period.

Applicable discounting rate is 10% p.a. Present values of T 1 at the discounting
rate of 10% and 12% are given below for 3 years :

Year
PV at 10%
PV at 12%

0
1
1

1
0-909
0-892

2
0-826
0-797

3
0-751

0-712
10+10=20

(c) <% i fomma & dfim 32 wd 3mgo 3Ro o Yo N yftrm At fadwmn Hifv)

Discuss the role of insurance
development of the country.

SLPM-P-COM/6
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